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Assume any missing data siiiably.

Part A
Distinguish between DAD curves and IDT cuives.
Write a note on water shad.
What is meant by design flcod? s this esme as Maxiaum Prebable Flood? Why?
What is meant by reserveir sedimecation? What are the different methods of controliing
reservisr sadimentation?
imigation, How do you classify Imigation? What oo the advantages and i eifects

eiind

of Wrrigation”?
Write 2 note on Maiginal buads and geide banks.
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Fxplain the procedure for checking a ramfall data fur comsistency
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Determine the ordinawes of an 3 hr unit hysiograph fer
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1l a) (i) Define mass inflow curve and demand curve. Explain the procedure for finding storage (8)
capacity of a reservoir in order to meet a particular rate of demand.
List the various formulae to obtain the flood peak discharge and discuss their limitations.  (7)
(or)
b) (i) What is the necessity of river training works? Describe in brief the different types of (15}
river training works .

W2} A weir with a vertical drop has the following particulers . (i5)
8ligh’s co efficient 19
Flood discharge = 350 cumecs
Length of weir =50m
Height of weir above low water = 2.5m
Height of falling shuder = 0.6m
Foas wddth of wety =2.0m
soazowm widih of wetr =~ 3 5m
Uesizm the fength and thickness of aprons ~nd drew fie cross section of the weir.
AT 7 Whnal are their fypes? Discuss briefly (36}
ey in che *mw‘.
tt )
Vap:  Compars and contrast the varicus 43 £ Kennedy's theory and Lacey’s Siit theory., {10}
Drasipn an frrigation chanaol section for discharys = 48 cumees, and si¥t factor = 1.0 with
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the seleciton of the optimem {5}
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